

Name: Alonza Ostarada Quadermitok
 Adm No: 16/E1604/005
 Department: Electrical Engineering
 Level: 200.

The parametric equation of curve are as given in equation (1) and (2)
 $x = \cos t + t \sin t$
 $y = \sin t - t \cos t$

In order to determine of k

- i. An expression for the value of curvature (R) and
- ii. Expression for the coordinates of the Centre of Curvature

Soln

Recall

$$\Rightarrow R = \left[1 + \left(\frac{dy}{dx} \right)^2 \right]^{\frac{3}{2}}$$

$$\frac{d^2y}{dx^2}$$

$$x = \cos t + t \sin t$$

$$y = \sin t - t \cos t$$

$$\frac{dx}{dt} = -\sin t + t \cos t + \sin t \quad (1)$$

$$\frac{dy}{dt} = t \cos t$$

$$\frac{dy}{dx} = \frac{t \cos t + t \sin t - \cos t}{t \cos t} \quad (2)$$

$$\frac{dy}{dx} = t \tan t$$

$$\Rightarrow \frac{dy}{dx} = \frac{dy}{dt} \times \frac{dt}{dx} = \frac{t \cos t}{t \cos t} = \frac{\sin t}{\cos t}$$

$$\frac{d^2y}{dx^2} = \frac{d}{dx} \left(\frac{dy}{dx} \right) = \frac{d}{dt} \left(\frac{dy}{dx} \right) \frac{dt}{dx}$$

$$\frac{dy}{dx} = \frac{d}{dt} \left(\frac{\sin t}{\cos t} \right) \cdot \frac{dt}{da}$$

$$V \frac{dy}{dx} - U \frac{dy}{da} = \frac{V \frac{dy}{dt} - U \frac{dy}{dt}}{V^2}$$

Let $U = \cos t$

$V = \cos t$

$\frac{dx}{dt} = \cos t$

$\frac{dy}{dt}$

$\frac{dx}{dt} = -\sin t$

$\frac{dy}{dt}$

$$\frac{d^2y}{dx^2} = \frac{(\cos^2 t - (-\sin t)) \times \frac{dt}{dx}}{\cos^2 t}$$

$$\frac{d^2y}{dx^2} = \frac{(\cos^2 t + \sin t) \times 1}{\cos^2 t \cos t}$$

Recall from trigonometric identities

that $\sin^2 \theta + \cos^2 \theta = 1$

$$\frac{d^2y}{dx^2} = \frac{1}{\cos^2 t}$$

$$\text{Since } R = \left[1 + \left(\frac{dy}{dx} \right)^2 \right]^{\frac{3}{2}} \cdot \frac{d^2y/dx^2}{d^3y/dx^3}$$

$$R = \left[1 + \left(\frac{\sin t}{\cos t} \right)^2 \right]^{\frac{3}{2}} \cdot \frac{d^2y}{dx^2}$$

$$R = \left[\frac{1 + \sin^2 t}{\cos^2 t} \right]^{\frac{3}{2}} \times \frac{1}{\cos^2 t}$$

$$R = \left[\frac{\cos^2 t + \sin^2 t}{\cos^2 t} \right] \times \frac{1}{\cos^2 t}$$

$$R = \frac{1}{(\cos^2 t)^{3/2}} t + \cos t$$

$$R = \frac{t \cos^2 t}{\cos^2 t}$$

$$R = t$$

\therefore The expression for the radius of curvature is t .

i. (h, k)

$$\text{Recall } h = x_1 - R \sin \theta \quad \dots (1)$$

$$k = y_1 + R \cos \theta \quad \dots (2)$$

$$R = t \quad \theta = t$$

$$x_1 = \cos t + t \sin t$$

$$y_1 = \sin t - t \cos t$$

Substituting for θ , x_1 , y_1 and R - equation (1) and (2)

$$h = \cos t + t \sin t - t \sin t$$

$$h = \cos t$$

$$k = \sin t - t \cos t + t \cos t$$

$$k = \sin t$$

Here, the expression of the coordinates (h, k) of the centre of curvature is $(\cos t, \sin t)$ ///.